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1 gfr U FT ASCII #15 01010101 &, & V & ASCIl #1E F471 grem?
Ans o 101010110

< 2 01010111

# 301000110

< 4. 01010100

Question ID : 7193991213
Status : Not Answered
Chosen Option : --

Q2 sodemarst iR ST s dOE F 69 vF SehE F §9 8§ F R B
A o it R

X 2 e

X = TR (IR s

X 4 FFYYE TFEIIR

Question ID : 7193991214
Status : Answered
Chosen Option: 1

Q3 mrEmmive 9fR T 2016 # B F ¥ FiF @ REeT v 3y A aed A8 P
Ans X 1. Insert

v 2 Tools

/< 3. Home

#< 4 SlideShow

Question ID : 7193991248
Status : Answered




l Chosen Option : 3

Q.4 ==h o T=r ¥ Bw (3w 15), RRE F ¥ 7 o guur ot e gttt F v e a9
EET 3T (TT FiRD) T 3IART HE?

e XK st
X 2 g
Vs aEal
X 4 e

Question ID : 7193991212
Status : Answered
Chosen Option : 1

Q5 B=ffEa & 4 Fi9 ¥ GUI Tew sTaeaHT # UF BT § U I A ey gae 1 gty g 82
e K1 tareataw

X 2 IfEe e

X 3. graeErse e

v ApErFE

Question ID : 7193991217
Status : Not Answered
Chosen Option : --

Q.6 mﬁﬁmmmﬁ,mwﬁmmmgﬁﬁ@@mm
Ane XK1 fir arderetr
X 2 Ay e
v i T8 e
X4 wER e

Question ID : 7193991238
Status : Answered
Chosen Option : 4

Q7 fEre & T oETe P AT TER F TH A7 &9 Wold & O HES AiEwe F 7
Ans X1 AL + T

X2 Alt + N

vi3cCtl+T

X4 Alt+Ctrl + T

Question ID : 7193991241
Status : Answered
Chosen Option : 2

Q.8




et # Brest # Fogew g v W T F 9 § caateud & S g
Ans x1~ IMF

v &
X 3 Zae
X 4 et e

Question ID : 7193991220
Status : Answered
Chosen Option: 2

Q9 7 rafaflT AEFdTe T Haue # B & giase B o &, o oftons Far gee
=AVERAGE(3,12>16,9)

Ans X'1. 9
V24
X345
X486

Question ID : 7193991235
Status : Not Answered
Chosen Option : --

od1nm”maé2016mﬁwﬁmﬁamaﬂraﬁmmmm%?
X TgAaE: 1, HiOwaE: 128

X 2 vOAGH: 2, HwdA: 128

X 3 TOAGH: 2, HUwaH: 63

v o TgFaE: 1, HfOwa: 63

Question ID : 7193991226
Status : Not Answered
Chosen Option : --

U TrRle # @ #a w8 Fu w@ e

(i) A AANY FT TFRE TEA ThST AAY F vFAH TEH W FET
grar 21

(i) TA wegur &TFaT F fow, DRAM, SRAM & g # T&T 21
M e (i)

X2 aar (i) 3k 7 & (i)

X 3 e (i)

Ko g (i) R (i)




Question ID : 7193991202
Status : Answered
Chosen Option : 4

Y Pfafle F ¥ #iF @ ve fwes gvedm a8 §2
Ans 1. Unix

#< 2. Windows

W 2 Kaspersky

X 4 DOS

Question ID : 7193991209
Status : Answered
Chosen Option: 3

Q; Trafefa § 9 5 o Twer AT Fyat S goaar &1 ged =T JuiT F:1aT 87

(i) ATSHATFE TaT TS Folss &7 ANV Gide & &7 § B FT a7 S Fohal 2l
(i) I°5 TEIT ASHEGE TR TEE ISeYA TS F FIN AT H e S Fehal gl

Ans X (i) - FTerd, (i) - TTed
X 2 (i) - =@y, (i) - o9
X3 (i) - @@, (i) - |
v 4 (i) - FTeaq, (i) - FE

Question ID : 7193991250
Status : Answered
Chosen Option : 3

% R v R # ¥ FiF a1 BT e Taw 3eET 2
i 1 T Aftew R

X 2 ofer e

?(3@,3;@3;

X 4 Zpare Riex

Question ID : 7193991210
Status : Answered
Chosen Option : 1

Ul mzpmre Lot f wF f W IR am d P s S v Fh & gaen @ g
5

Ans 1. Shift
X< 2 Enter
X 3. Spacebar

v 4 Tab




Question ID : 7193991227
Status : Answered
Chosen Option : 4

061 T ¥ E TOF FoOe # IP 9 g ¥ R # ¥ FiF w Reew w Anw P aa serw
T E?

Ans X 1. Class-C
X 2 Class-A
v 3 Class-|
< 4 Class-D

Question ID : 7193991239
Status : Answered
Chosen Option: 3

0%1 AEHIEGE 55 A H T W o] 0T ST Tehel 16T T9E BT Hle R B 872

Ans X110
X2 8
VR
X412

Question ID : 7193991224
Status : Answered
Chosen Option: 2

% PR #F @ ST @R Fua e 22
(i) scarerer 3N aEeE R A & @ s &
3SR 2
(i) 39 FeR FI 3§ TAR & &7 F oft F=1 F1a7 2
XK aE (i) R (i)

X 2. Fer (i)
v ar () 3l T & (i)
X 4 et (i)
Question ID : 7193991243
Status : Not Answered
Chosen Option : --
U Rulee & ¥, FEACHF 3T ATHTFE TR F W g 2
Ans x 1. aﬁ

X2 %




VAR

Question ID : 7193991232
Status : Answered
Chosen Option : 4

Q2 Fpwwve wEE TRl H 39 GRRadl F 9ET & F @ S e TR g A ad § e e
Tl FASA T I G S 32

Ans - X 1. Alt
v 2 Ctrl
X 3. Shift
X 4 Alt+Shift

Question ID : 7193991231
Status : Answered
Chosen Option : 4

Q.2 mEFme tFIe IR F IR 09 ¥ 39T 7 9eiE e O OURd A ¥F R T IO
1
o = &

Ans X 1. Status Bar
X 2 Title Bar
# 3. Name Box
v 4 Formula Bar

Question ID : 7193991230
Status : Answered
Chosen Option: 1

Q.2 ips of exam’ ITEATY AFFETT IF 2016 TEAEST & H¥ RwrE &, = ‘Capitalize Each Word'
2 g a swes fore ey faar o &7

Ans o 1. Tips Of Exam
X 2 Tips of Exam
X 3 Tips of exam
X 2 Tips Of exam

Question ID : 7193991225
Status : Answered
Chosen Option : 1

Q.2 RiEie w/es SiFg & Ao O "Esdite gt diEge tase @ @es & v Hee@a d @ S
3 & TrsumEs g wigsl S 39EeT R e i

Ans of 1. Powerpnt.exe
X 2. Ppoint.exe
X 3. MSPowerpoint.exe




X 2 Powerpoint.exe

Question ID : 7193991247
Status : Not Answered
Chosen Option : --

1100101011010011
ans X116

V2 4

X3 2

x4 8

% Feew # ArAlile e 3EH F1 HER e 87

Question ID : 7193991211
Status : Answered
Chosen Option : 4

Ans  of 1 Post Office Protocol

U Sy AT F TEw F, POP_aHr e &

X 2. Post Organization Protocol
/X 3. Popular Office Protocol
/< 2 Primary Organization Protocol

Question ID : 7193991245
Status : Answered
Chosen Option : 4

Ans ‘,1.

F F T ST FE=T

X 2

X a

062 frfafea & ¥ Fi7 a1 e Fwyex afér ufear o gad =T U T 82

e fawen = o B & #A5g A0 F T A#R Foge B uEeman F S & e

Fea s & o = * v it wEar & e s
X3 T fwes & A% =T

g BT W wEer 3t e SEmAT S ok e

Question ID : 7193991215
Status : Answered
Chosen Option : 1

Ans

Y Fegex o3 R #r ererEet # GUI & 90T &9 4T 87




v . TS I SETHT

X 2 Tfere TR ST
X = Ifheer gfaew eThA

X 4 TMFT TT $THH

Question ID : 7193991216
Status : Answered
Chosen Option : 1

% e § @ #iF @ FeeT CPU & ya@ weat &1 gafiar &2
Are X1 g e, ALU, CU

X 2 CU, ROM, I3eeT

X 3 ALU, CU, RAM

v+ ALU, CU, TEreet

Question ID : 7193991205
Status : Answered
Chosen Option : 4

°§2 frRRa & ¥ Fi9 7 A w-ve ofiT & 9 fORaT 9 #7 399ET Y e 22
e g M R

X 2 gpere WX

X 3 =R Riex

X 4 gpee R oeR e a=r

Question ID : 7193991204
Status : Answered
Chosen Option : 3

Q.3 GafafRa & @ g AewEte THE B w5989 TR & 49 # 39ae R sk gmw e
0 i & fare fom o o &2

ans 1 TIME()
X 2 TODAY()
X 3 DATE()
v« NOW()

Question ID : 7193991233
Status : Answered
Chosen Option : 4

Q.3




1 s T, % & 7 giawea, Fies Fegfiie, iy &7 w1 & I & FegEd & e o)

Ans x1~ {\qﬂ-
v 2 et
X sl
X 4 ey

Question ID : 7193991201
Status : Answered
Chosen Option : 2

Q3 =i # § #iF W $FHa R 7 396 vE-gaT F A TgEe a9 (A, e ) e
2 5 St S e & e R e

Ans of 1. BCC
X200
X 3. Starred
X 4 Subject

Question ID : 7193991246
Status : Answered
Chosen Option: 1

Q.3 TrfafEs § ¥ fFw Sedox & 399 3 & OFaar o w2 F e # ot s F B
3 T ST &7

e X1 3% ST
X 2 YIige HiteaaT
v mEfie
X 4 FedEnfEar arveaaT

Question ID : 7193991207
Status : Answered
Chosen Option : 3

Q3 mEwmive 2 #, 5o & 3T # RWEme & o e weg w1 fenor few & e GeeRa @
4 g e 1 39Tt R = 2

Ans X 1. Footer
< 2 Table
v = Footnote
& 4 Endnote

Question ID : 7193991223
Status : Answered
Chosen Option: 1

L ST § ¥ #iF a1 ey v 8 32




Ans  of 1. Firefox
< 2. McAfee
< 3 Avira
X 4 Kaspersky

Question ID : 7193991208
Status : Answered
Chosen Option: 1

b s a2

Ans (1. mm
X 2 ZFreaiad
X 3 T
X 4 e sio g

Q3 rafafea & & #i7 1 GUI Te% STaeeaist @7 U a7 F G5 U e o uneT w0 #

Question ID : 7193991218
Status : Answered
Chosen Option : 1

Ans 3¢ 1. DAY()
v 2 WEEK()
X 3. DAYS()
X 4 TIME()

Qf AEFETE TS 2016 F TRaiRg F ¥ Fi9. BesT v du veee A 7

Question ID : 7193991234
Status : Answered
Chosen Option : 3

8 siiftewer Tt W Rt R T 2
Ans X 1. gerdr B
X2 aré oew

X 3 wiruge B
v =T B

Q.3 ¥ shrferem (HD) Aftar &1 R, Rrde 3iit wordes o werwr gt & T orwiofaia & & @t @

Question ID : 7193991203
Status : Answered
Chosen Option : 3

Ans

Y T § ¥ FiF @ Reew ve ety g=wor A 37




v . ATEEET

X 2 zEEfad IR (TRTE-A3R) a”
X 3. wrEEy Hiftew

X 4 FHETET (FreFrsTe) a

Question ID : 7193991237
Status : Answered
Chosen Option : 1

U Rew & @ HF T I O FUTE B AT F87 Har 87

Ans x 1. 7=z

Question ID : 7193991221
Status : Answered
Chosen Option : 2

% 32 KB # fFa s A
Ans K 1. 4096

X 2 8192

X 3 16384

v 4 32768

Question ID : 7193991206
Status : Answered
Chosen Option : 4

Q4 T5% a1z 39 & Hefua ale & BT G N 3 T HEN F gm0 % o e )

2 g s= v ST 1 T TR T S9UNT FAT &, FeT AT &
Ans X :FCLET

X 2 FEEm

v Fe

X4 TEER

Question ID : 7193991242
Status : Not Answered
Chosen Option : --

Y FErwre TeRe Tefic # v MRTEE g &
Ans x.l_ ﬂ a




v 2 Orde
X 3 gieTeed
X+ g

Question ID : 7193991229
Status : Answered
Chosen Option : 1

Q.4 FreFETe TEdE 2016 F TUT ¥ ¥ BT w 9K a9 & SR # § B fae aiee
4 soier R o w22

A of 1 F11
X2 F3
X3 F4
X4 F7

Question ID : 7193991236
Status : Answered
Chosen Option : 1

Qé4 =T & ¥ w5l T8 sy T8 287

() T IPv4 o5 & 64 few @ &
(i) ST FT sHT-qL PC (T & TR fover awn PC) § wodd 78 Bar 51 Fohat

e XK At (i) sl (i)
Vo g ar (i) 3 T E (i)
X 3 e (i)
X 4 e (i)

Question ID : 7193991240
Status : Answered
Chosen Option : 2

U e ST T e & wTSs # Rwiee MRTEyE Fa g &7
Ans XK greieTe

X 2 afewma

X3 urée

v i elETR

Question ID : 7193991249
Status : Answered
Chosen Option : 4

07.4 = fordt AEwgre TS Titasee @ e ST 8, oF EwE & At Bwiee TR @ s S &

Ans x-l_ m




Question ID : 7193991228
Status : Answered
Chosen Option: 3

L e 3 2016 # e # ¥ FiF @ REeT v dv A ameew A 22

Ans X 1. Home
< 2. Review
v 3 Tools
X 4 Insert

Question ID : 7193991222
Status : Answered
Chosen Option : 2

Q4 R 10 F PeafafT § & Fi9 & e 390 3EeA ST # FTYEX W TS F sw R

9 v g W IS RS & ¥

Ans xl ﬁ ﬁEFrE'ET-!T
X2 fawes Ak g

X 3. grEaae 3t ==
v 4 gEmE

Question ID : 7193991219
Status : Not Answered
Chosen Option : --

Y e wuA § ¥ FiF @1 FyF Ted £
A X T SR IR F Fae U @ IO 2T IR

v 2

HIT T & THAS Hoge H STANT Hh a8 A0 SHA 3T ¢l a1 Fepdl|

X 3 SRer AR Fo-uIdr (dfafe) g B
X 4 SR IR F NFg T 76 @ Tl

Question ID : 7193991244
Status : Answered
Chosen Option : 1

Section : General Reasoning

Q.1




fw o Reedt # @ 97 ReeT oo Y Pe T gEer # U F S|

23; 25,29, 37,53, ?
Ans X190

X 2 69

V'3 85

X 4 95

Question ID : 7193991253
Status : Answered
Chosen Option : 2

Q2 Pom & & 97 BeeT 99 &1 & Y omg @ 3 e wrele ¥ AW B gEw oe v ¥ R
FOAM : HQCO :: SOAP : ?
Ans X 1. UQCS
X 2 TQCS
X 3 TQCR
v 4+ UQCR

Question ID : 7193991256
Status : Answered
Chosen Option : 4

Q3 G F @ FF @ 37 3T P F mew g9y # @ & @ el e 2

Ans
v 2

.@8




Question ID : 7193991269
Status : Answered
Chosen Option : 4

Q4 1 sk R s § o Fr oot wOen 31 oo @ R @@ § s @ 9 e §) She @ o

& T fear 2

R
X299
X3 ooE
v 4 s

Question ID : 7193991254
Status : Answered
Chosen Option : 4

Q5 Rr aw Reredt & ¥, 39 e N IET S A RT aw eeg & R F A8 7 "R B

PERSISTENT
Ans  of 1 PERCENT

X 2 RESPITE
< 3. SNIPERS
< 4 INTEREST

Question ID : 7193991264
Status : Answered
Chosen Option : 2

Q.6 Fe g #r AR 18 m ToAT &, 3HS IE I AT HF FC 13 m Taam g1 o 3@ 9% 3R Fqzar 7 A’
18 m g worar ¥ 98 R & o8 o g € ol 13 m @Y Teer §) 97 o o Ry ¥ R

W

Ans X118 m
X262 m
X3 31m
v436m

Question ID : 7193991265
Status : Answered
Chosen Option : 4

¥ s R s AR ST A B

Ans X1 HLPT
X 2 NRVZ
# 3 FJNR
v+ KMPS

Question ID : 7193991252




Status : Answered
Chosen Option : 4

Q8 ot & v 9faa &, AT W & 143 T AW ¥ 133 T W} 9 F o7 Faw o 2
Ans X1 27

v 26

<3 25

428

Question ID : 7193991263
Status : Answered
Chosen Option: 1

Q.9 v e amor &, 7fY FEAR &' FGESATRS farar =mar &, & 58 %z a1 & CANE =1 =1 famr smwem?
Ans X 1. C3ATN4ES

v 2 C3ATN4E5

# 3 C3A2N1E5S

< 4 A1C3N4ES5

Question ID : 7193991258
Status : Answered
Chosen Option : 2

Q.1 T AT T Y SEH TH Hr A B AT T §1 WS I @, A AL T G H A F G AT
0 off| A Fr FHAE g B &7

At 148 ¥
X252 %
X2 42 a9
/4 50 %

Question ID : 7193991266
Status : Not Answered
Chosen Option : --

U G # ¥ 3W UE-E B eI o A @ & el e ¥ e B
s T A

X 2 #Hrer:@gr

X 3. ofygufegar: dgam

X 4 IT-HTeT : FeEAT-FHTeA

Question ID : 7193991259
Status : Answered
Chosen Option : 1




% T ww R & feaw fae 2

v
N

2

Ans X120
v'2 30
X314
X428

Question ID : 7193991270
Status : Not Answered
Chosen Option : --

QT of 4 U e F T PR o, A I A B F A AW R Fa g
Ans X 1. FUER

X 2 ofFar

X3 FETeET

v o TREr

Question ID : 7193991268
Status : Not Answered
Chosen Option : --

Q1 fem & & 3¢ Few g9 S Sl @ew & 5@ weR @ wed § O TeR @ gl s gge FEm
4 ¥ gEfa

0 729 B 2
Ans X 1. 256
X2 516
V'3 512
X 4 324

Question ID : 7193991260
Status : Answered
Chosen Option: 3

Q1 sy xF = F e R aw a2 s g amfela s o =, et e A @ Flw &
5 THRTOT LT ErEm?

Ans X 1.2 = 3x5+1
KN22%x3 =5+1




V35 =3x2+1
X42+1=5x3

Question ID : 7193991267
Status : Not Answered
Chosen Option : --

Q1 T & gmen & 7% ¢ owd v e 3T € RU v et # & 97 Reew o St g@er & 9o

6y
DF, IK, NP, SU, ?
ans X1 VX
< 2 WY
v XZ
X4 XY

Question ID : 7193991261
Status : Not Answered
Chosen Option : --

Y o a ' T TEY AU F S =T & W T

Ans X-L THTS
X2 =TT
X s Farg
o 4 3T

Question ID : 7193991251
Status : Answered
Chosen Option : 4

Q1 gadmmraRg s H E Framandort it amtic BFedaimdart aiw D

8 smEsrdtiG FEraotamimtdtHE iy mrSamim

Ans 1 E
X2 C
XD
XoF

Question ID : 7193991255
Status : Not Answered
Chosen Option : --

Q.1




2 wudt & g g fvwy Rr aw §| o w9 @ A9 qut @ s @ ¥ aesg wue & ae
=1 foswst i 98 Hi 77 TeifE =t & R v st @ afbs w7 @ w9 ane Teed Bwee
iceofl

F:
1. $T AR A1 &

2. %o e B

forsere
1. T #Er A e &

2. #I% BEr AT 744 B

Ane X1 Faer TRy 1 et B
X 2 Fae TeEy 2 Awear
X 3 gt fFswy e B
Vv ooor ar ey 1 Serear & I Ty 2 Seear g
Question ID : 7193991262
Status : Not Answered
Chosen Option : --
% % e g S e s@er ¥ dug 7 ¥

Ans

1. 2. 8 1531, 56.91
X131
X 2 56
V'3 91
X46

Question ID : 7193991257
Status : Not Answered
Chosen Option : --

Section : General Hindi

Q.1

Ans

o & FlF T a0 T==T

vz
52
X 3
p s

% 8

Question ID : 7193991284
Status : Not Answered
Chosen Option : --

Q.2




Ans

o= 7 iF @ e = 27
v usES

X 2 egre

X 3 ogd

X 4 ey

Question ID : 7193991271
Status : Not Answered
Chosen Option : --

ol BE ST 1 Agvor ¥
e XK1 afaToTETs

X 2 gEgETES
X3 grEATRE

. TUTETER

Question ID : 7193991282
Status : Answered
Chosen Option : 4

o F i T gEr & gataaE a8 §

Ans

el AT ST F@l I e ANBIFT N HRT ¢

K. ST i HEE ST

X 2 TS &S HIT 9] AN H GeAer o
v 3 BT ATCHT T 55 HSHAT F FT A
X 4 AT e 3R AL e A e o

Ans X 1. 9led

X2 gH

P -

o o gHT

Question ID : 7193991275
Status : Answered
Chosen Option : 4

Q.5

Question ID : 7193991279
Status : Answered
Chosen Option : 3

Q.6




e & & #iF & & s3=was 87
Ans J1m

X2 FieET
X 3. ogar

X 4 TS

Question ID : 7193991283
Status : Answered
Chosen Option : 1

Y M & FiF W oI

Ans Jy T
X2 HY

=

X3 |
X 4 3T

Question ID : 7193991273
Status : Answered
Chosen Option : 3

¥ g TR g H G P2
Ans ¢ 1. THEATIH
X 2 gfFaares

X s e
V' o gETaTTaeh

Question ID : 7193991280
Status : Answered
Chosen Option : 4

¥ Iy T FRE F ORET 7
Ane XK. aefrRor

X 2 geer

Vo

X4 HYTETA

Question ID : 7193991285
Status : Not Answered
Chosen Option : --

TR AT A I g g AT W




Ans «1 quy

]

oo
S C
X4 T T

Question ID : 7193991276
Status : Answered
Chosen Option: 1

X1 Ewer
X 2. Fgramefrer
3 deEy
X 4 FTT

' faare a1 TEETeh @ IHORT @ AT F T T eweg @

Ans

Question ID : 7193991274
Status : Answered
Chosen Option : 1

Q.1
2

Ans

Fo' fF 9w &1 waaw 37

X REEs
X 2 fRe=EEs
V'3 seTTETEE
X 4 gIFaTER

Question ID : 7193991281
Status : Answered
Chosen Option : 4

S P # ¥ g T Sl g
Ans X 1. GEE ATH SATH T 1T

X 2 3T JEd-gedr | TE
X3 orsfasat & a3 F FEri
v o # 38 B T GHSAT M

Question ID : 7193991277
Status : Answered
Chosen Option : 4

Ans

UV gzEr F T T suEe 32




X9
K2 T
v g
X4 T

Question ID : 7193991272
Status : Answered
Chosen Option: 3

% He FRAT HEEY 1w A ¥

Ans ¥1ag¢ ﬂ

X 2 TE% FRAT
PSR EC

X 4 FETE W AR

Question ID : 7193991278
Status : Answered
Chosen Option : 1

Section : General English

Q1 Select the most appropriate option to fill in the blank.

The meeting will be over

As 21, by
X 2 on
V'3 in
X 4 for

about an hour.

Question ID : 7193991286
Status : Answered
Chosen Option : 4

Q2 Select the most appropriate antonym of the given word.

CONCEITED

Ans o 1. unassuming

/< 2. self-important

< 3. vain

/< 4 immodest

Question ID : 7193991295
Status : Answered
Chosen Option : 1




@3 Select the correctly spelt word.
Ans 1. punchual

/< 2. punctuel

« 3 punctual

/< 4. panctual

Question ID : 7193991296
Status : Answered
Chosen Option: 3

Q4 Select the most appropriate option to fill in the blank.

she belongs to a rich family she is quite a miser.
Ans 1. Both, and
« 2. Although, yet
/< 3 Hardly, when
X 4 As, so

Question ID : 7193991291
Status : Not Answered
Chosen Option : --

Q5 select the most appropriate option to fill in the blank,

The flood was quite severe Kedarnath temple was saved.

Ans X 1. because
« 2 but
< 3 50
/< 4 although

Question ID : 7193991290
Status : Answered
Chosen Option : 2

Q6 Select the correct passive form of the given sentence.

The members are still discussing the problem.
Ans 5 1. The problem was still being discussed by the members.
/< 2. The members are still being discussed by the problems.
/< 3. The problem has been still discussed by the members.
« 4 The problem is still being discussed by the members.

Question ID : 7193991300
Status : Not Answered




l Chosen Option : --

Q7 Select the most appropriate option to fill in the blank.

Lunch is not yet ready although she all the morning.

Ans 1. has cooked
< 2. cooks
/< 3. is cooking

+ 4 has been cooking

Question ID : 7193991289
Status : Not Answered
Chosen Option : --

Q.8 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part

from the given options. Choose ‘No error” if there are no errors.

Every night/ mother made me going/ to bed at 9 p.m.

Ans % 1. to bed at 9 p.m.
/< 2. Every night
+ 3. mother made me going
X 4. No error

Question ID : 7193991298
Status : Answered
Chosen Option : 1

Q9 Select the most appropriate synonym of the given word.

REVOKE

Ans  of 1. cancel
/< 2. manage

/< 3. uphold

/< 4 maintain

Question ID : 7193991293
Status : Not Answered
Chosen Option : --

Q.1 : - .
o Select the most appropriate option to fill in the blank.

When she the bus, it suddenly started moving.
Ans 1. got down
/< 2. is getting down
/< 3. has got down

« 4 was getting down




Question ID : 7193991288
Status : Not Answered
Chosen Option : --

°1'1 Select the most appropriate antonym of the given word.

TEMPERATE

Ans  of 1. extreme
& 2. moderate
< 3. controlled
& 4 mild

Question ID : 7193991294
Status : Not Answered
Chosen Option : --

Q.1 - G : :
, Select the most appropriate option to fill in the blank.

I like to stay home Sunday mornings and relax.
Ans x 1. Hl, at
< 2 at, by

/< 3 by, on
« 4 at, on

Question ID : 7193991287
Status : Answered
Chosen Option : 1

Q.1 ; ) :
3 Select the most appropriate phrase to fill in the blank.

He always when we are climbing the mountains.
Ans o 1 falls behind
/< 2. falls away

/< 3. falls short of
< 4 falls back

Question ID : 7193991299
Status : Not Answered
Chosen Option : --

@1 Select the INCORRECTLY spelt word.
Ans XK1 fertilise

/< 2. fidget

v 3 fuedal




/< 4 festivity

Question ID : 7193991297
Status : Not Answered
Chosen Option : --

5
DOMINANT

Ans  of 1. foremost
/< 2. subordinate

/< 3 last

/5 4 common

Q1 Select the most appropriate synonym of the given word.

Question ID : 7193991292
Status : Not Answered
Chosen Option : --

Section : Technical

Q.1 fw 7w o ¥ e, sfonfas & e @ i T e &y § TeRRe d @

or e T &7

M ot REw garar ST gerat ¥ w5 A ¥
X2 F o g

X 3 F et g E

X o QU7 faw geTar SIOeTs gerar & HfeeE A B

Question ID : 7193991381
Status : Not Answered
Chosen Option : --

2 IR @ o vl 71ET et B

Ans “1. £ qa‘rsﬁ'

X 2 FHEFel T T4
X 3 Atgw & iy

X 4 TE=Gar

Question ID : 7193991363
Status : Answered
Chosen Option : 4

03 SHEV aE

Ans o1 I, — V
X2l = I

FT ATF &




3Pl - I
X4 Pf =L

Question ID : 7193991403
Status : Not Answered
Chosen Option : --

ot 9w (slip ring) STON A F gdr / g gl
K e ufET o
X 2 e waae semgur

X 3 =T gaTar
v ¢ 35T Jace Serer

Question ID : 7193991409
Status : Answered
Chosen Option : 4

Q.5 zfy 7 sy e & For wEw AR P 9w & TEw ¥ S mEeet 9y # amiR seeey #
TE Far g

Ans XK 1. 3Z 4P
X2Z/]2P
v3Z/P
R4+ IZIP

Question ID : 7193991351
Status : Answered
Chosen Option : 3

Y igE Y S g S, s e @ g
Ans X 1. Far =TereRaT, 39 SieRrusar

v 2. F=1 gfeRiueRar, BeF =areeear

X 3. e gfaeesar, @es =rerear

X 4 e gfareresar, 3= e

Question ID : 7193991367
Status : Answered
Chosen Option : 2

Q.7 wﬂaﬁxﬁﬁr@g@mqﬂﬁ%ﬁmmwmwmmﬁw@rﬁw CCin
e = B

e XLt ¥ v
v s & o g ¥ few




X TR 7 % T

X 4 RIfHET & gIC g1y & HEw

Question ID : 7193991327
Status : Answered
Chosen Option: 1

Q.8 ws fave aRT AET 9T 9N T 1725 rpm AT 9FT ST W 1775 rpm W T 1 Al T ww e

Ans o 1 2.9%
X2 76%
X3 15%
X 4 4.7%

Question ID : 7193991441
Status : Answered
Chosen Option: 3

Q9w war (Fe1) fise T Trew # 3Ea AT g g@w Sur oftone g @ §2

Ans ?(11%’;1;[ ﬁ: h

v 2 HaER oifa FaAa

X 3 & g
X 4 e 3
Question ID : 7193991423
Status : Answered
Chosen Option : 3
Q;meT)ﬁ,m-mqm;ﬁ(mmﬁ@ F T F FE ST B
Ans x 1. ;Gj q?

X2 ‘P ag
Vs B g
K4 H wgr

Question ID : 7193991387
Status : Answered
Chosen Option : 3

°1-‘ Iy, eaTse =ferd Searatot @ #r Aeg ¥ =T AT F7ar g

Ans xl ?l?»l’
X2 g
V2 gIEEET




X 4 OreT

Question ID : 7193991383
Status : Not Answered
Chosen Option : --

Q; HHT I T HT W T FIeN @R faEga T aTw Fet Fr HEwr o w82
A X aRoTEr sieRTer (Refeee )

v 2 31 3aTe (e B

X 3 ofFg IR (5% =)

X 4 feeafaaes e (FFgeex )

Question ID : 7193991350
Status : Not Answered
Chosen Option : --

Y Wrm el S e drses @y
ne X =

v . T

X 3 e

X 4 g F|oT

Question ID : 7193991395
Status : Answered
Chosen Option: 1

% T gER T IR Seear T R war 2
XK 38 9y (@Re)

X 2 LDR

v s ofadt gatus (afe)

X4 uffirx

Question ID : 7193991313
Status : Answered
Chosen Option : 3

U s g AT e wE f sw TR S e A
XK T s dnh

X2 =g AR e

X< s o st afem




v ¢ ordr At delr

Question ID : 7193991358
Status : Not Answered
Chosen Option : --

061 IE furs % 318N, 3PN HETHA I SEIGR SET Sar B @ @t 7 AR e F g =T

ans 1. PVC
X 2 CegiAtaH

v 5 FEST SEIT
X 4 grar

Question ID : 7193991373
Status : Answered
Chosen Option: 3

Q.1 7fy 2r Fefoat & &g TER Fevea 5 H &, 3T 3R v F5ar & oy 2 Als & e & ST &,

7 TElr g F 9T gy =eF 3@ (EMF) . gFm
Ans X 1.2V

X25V

X325V

V10V

Question ID : 7193991332
Status : Answered
Chosen Option : 4

°é1 In a split phase motor, the starting winding has:
Ans X 1. lowR & low L

2 highR & low L

/< 3 highR & high L

/& 4 highl & lowR

Question ID : 7193991407
Status : Answered
Chosen Option : 1

Ul g qoa B AT B S w & T B 30T F7 3w G S 2
X e e e

X 2 S 0T

v+ o

X 4 TEATT AT




Question ID : 7193991303
Status : Answered
Chosen Option: 3

@2 Distribution transformers are:

Ans 5 1. step-up transformers with ratings below 500 kVA
/< 2. step-up transformers with ratings above 500 kVA
/< 3. step-down transformers with ratings above 500 kVA
W 4 step-down transformers with ratings below 500 kVA

Question ID : 7193991379
Status : Answered
Chosen Option : 1

Q.2 50V%vummﬂﬁm1onwﬁmus§r§m%|mtmmﬁmagﬁaﬁrwaﬁrmﬁl
1

Ans 1. 50 A
X205A
v:5A
X 4 0.05 A

Question ID : 7193991320
Status : Answered
Chosen Option : 3

.2
Rl s o e G

Ans X 1. 3= Feear ar
X 2 e Jeear a”
X3 a9 dr’

v TE dr

ofr Fgr =TT B

Question ID : 7193991315
Status : Answered
Chosen Option : 1

% drar 3 | FT I HeT ZaraT

Ans  of 1. 75%
X 2 90%
X 3 60%
X 4 50%

Question ID : 7193991324
Status : Answered
Chosen Option: 1




Q.2 75 At JemEar 9w (AC) M W Fwar § a1 3R # suftug afome deedr 1 FF w5 & e

4 R A A 5 (winding) T 3T RRar =TT 2
Ane K0 wfeETer

X 2 yaAEH

v 5 SiaqTes

X 4 e

Question ID : 7193991353
Status : Not Answered
Chosen Option : --

Qéz Which tool is used to transfer measurements to inside caliper?
Ans 1. Jenny caliper

/< 2 Divider

/< 3. Leg caliper

v 4 Steel rule

Question ID : 7193991305
Status : Answered
Chosen Option : 2

Q2 60 Hz & W e 3w oo S A TR AT G AT FE
Ans o 1. 1800 rpm

X< 2. 750 rpm

< 3. 3000 rpm

X 41500 rpm

Question ID : 7193991385
Status : Answered
Chosen Option : 4

Q2 v s afektus ¥ e SfeR Seedr F 9 $ @Y gedr S ¥

Ane X arTEedr (wRfRT)

+

X 2 ZaTEEs
v o aiEdr gfotes (FRER)
X 4 sE

Question ID : 7193991337
Status : Answered
Chosen Option: 1

Q.2




8 The power factor (PF) of a
Ans X 1. shaded pole
/< 2. capacitor start
/< 3. resistance split phase

« 4 capacitor run

motor is relatively high.

Question ID : 7193991408
Status : Answered
Chosen Option : 2

Ans % 1. bearings
#< 2. stator core
« 3. pole shoes

/< 4. shaft

92 The damper windings in alternators are provided in

Question ID : 7193991384
Status : Answered
Chosen Option : 3

Ans 1. Rubber
X 2 Glass
' 3. Mica
< 4 Bimetal

063 Which material is used for insulating the heating element of an iron?

Question ID : 7193991341
Status : Answered
Chosen Option : 1

X 3. 3T I

T & wEEE W F @ E gy T FT g A 87
M FE s (Y) (FEfRE R
X 2. afyomsr sae (Reeee o)

X 4 OfFT e (8% o)

Question ID : 7193991349
Status : Answered
Chosen Option: 1

Ans

02.3 fase amr 9T AT & g fFwor & g Fewr & g g &r 7ty grea & @ §




X FHEET AT F FW F FY-ATYT A=
v 2 Fad FIHET Tg B FOT

X3 wiarg ofg ¥ 3w

X 4 Fae FAET AT T A=

Question ID : 7193991443
Status : Answered
Chosen Option : 1

9} Rege sul | FE TER & s w1 e gt G e e
MK o T YR &

X 2 FES SEHFEDE TFR F
X 2 greaefie A TFER F
V' 4 e | T YR

Question ID : 7193991301
Status : Answered
Chosen Option : 3

W o T ST F R wrswmer . ¥ Rw g B
e o1 g T

X 2 dreear Fa=or

X 3 gfeRrer Fr=or

X 4 grE =T

Question ID : 7193991339
Status : Answered
Chosen Option: 1

% UPS wome #F smug-swanet defm . @ ¥
X0 ey TS

X 2 ariro

v o reper FsfimA

X4 RfdTE 3

Question ID : 7193991424
Status : Answered
Chosen Option : 4

V3 v FITE ffowe # 9N AN O () F A FORE  Fe gl

Ans




v 109 & 099

X21315

<301309

X4 01%0.11

Question ID : 7193991418
Status : Answered
Chosen Option: 1

Q.3 v ey 4T &, S F1 FEgd s IS F o T T erfEd Fiex gan A = §
7 s afr B aE F T AT F 7 & & e b

Ko (plus), TER
X 2. |UT (minus), I

X 3. FHOT (minus), I8
W o g (plus), T1¢

Question ID : 7193991366
Status : Not Answered
Chosen Option : --

% ST g s (ung e ) A ATs @ §
A 1127 mm & 2.54 mm

<2027 cm & 2.44 cm

31278 mm ¥ 2.544 mm

/<4128 cm @ 254 cm

Question ID : 7193991306
Status : Answered
Chosen Option : 1

Q§3 FEE F 3T H TRRe ¥ ST Fr T T gE & B G sueer s 3w G o 2
e 1 Boe (afafees)
X2 &1 (J=0)

X 3 T (SaTER)
X4 B o

Question ID : 7193991304
Status : Answered
Chosen Option : 3

U =it # & 5 it ¥ @, B-H 3% v @l @ g




Ans ?(1 ﬁ% )
52 iig?sﬂ?:

3 >

e

X 4 Zorar sEATT

Question ID : 7193991329
Status : Not Answered
Chosen Option : --

U4 s7 &b F1 7 Fw § oww Ry Reew ¥ w7 g wifa R ST w32

ne XK grufder e
X 2 Yk T
v o gfedas @
X4 FegT o

Question ID : 7193991325
Status : Answered
Chosen Option : 3

G e % we F Reae s A 2

Ans K119
X229
V' 29
X 4 39

Question ID : 7193991309
Status : Not Answered
Chosen Option : --

°é4 3 WF 3R 6 uF aTiar & ar Fuiia FAER & 3 &1 SohT To aTiar Far geme?

Ans x 1. 3 HF

X2 2 uF

/< 318 pF

19 uF

Question ID : 7193991334
Status : Answered
Chosen Option : 2

Q.4




na4-rﬂ?~r,500Vai€:ﬂaﬁsﬂ%aﬁmq1?20aimﬁﬁﬁ?r!ﬁmaﬁ§¢%‘|qﬁ-manﬁmm
60 A 3T arfirarg 9fy o 0.03 Wb 2 smif=r gfodter 0.2 0 3 g9 o1 oy =97 1 V 7
Are #r QU-AR At w4

Ans X 1. 484 rpm
X 2. 576 rpm
X 3. 522 rpm
v 4 675 rpm

Question ID : 7193991442
Status : Not Answered
Chosen Option : --

& g AfF IR ¥ sArEar B
i et e

X 2 goraT sEATT

X 3 Ryzar o

X4 7g Tl

Question ID : 7193991447
Status : Answered
Chosen Option : 4

% NEMA &7 quT &9 7 2

Ans x-]_
National Electrical Marketing Association (F2TeT Solfdcahel HIRCT THITETI)

N &
National Electrical Manufacturers Association (Feleiel Saifagael Heghaatd TAIGT)

X 3
National Electrical Manufacturers Assembly (F2ae saifaged Hegha=s 3@aa)

X
National Electronic Manufacturers Association (/e goiagiieieh #egthaald THITATL)

Question ID : 7193991302
Status : Answered
Chosen Option: 1

Q.4 The power amplifier in which the collector current flows only positive half cycle of the input signal is called a:
7

Ans 1. Class A amplifier
« 2. Class B amplifier
/< 3. Class AB amplifier
/< 4. Class C amplifier




Question ID : 7193991428
Status : Answered
Chosen Option : 2

L e uwT Al F wEaw (W) ¥ T e
e wfafEE yade o & S

X 2 AR =] A

X3 AT 7 IS T

X o TS 33 T Akl

Question ID : 7193991444
Status : Not Answered
Chosen Option : --

% 9ET Qe F T IgET T gER Fw §
SN -

22 reREe

X< 3 mfgge T

X 4 YTeT 3cHSAF STOE (LED)

Question ID : 7193991391
Status : Answered
Chosen Option: 3

W der Fremwmar _ 3F @ s B
e K. ofETE

v 2 UfPTUT ger (ampere hour)

X 3. gre ger (watt hour)

X 4 gre (watt)

Question ID : 7193991321
Status : Not Answered
Chosen Option : --

U5 T T F FRT R O URT GRS S & HeaTice gt gl

Ans ?(1- Irt2

X2 Irt
3 I°rt
< 4 Irit




Question ID : 7193991359
Status : Answered
Chosen Option: 3

Y0 Hz T A F R AN aReam afy @@ ¥
Ans X 1. 750 rpm

< 2. 5000 rpm

/< 3. 30000 rpm

« 2 3000 rpm

Question ID : 7193991410
Status : Answered
Chosen Option : 1

Y AT ¥ W Fi g aderor B aEr §2
Ane X1 raTEAEe (Swinburne's) TRveToT

# 2 Faa giretor

X3 e / g9 oIreToT

& QAT adeTor

Question ID : 7193991365
Status : Not Answered
Chosen Option : --

Vet U 3eEor B
X 2 e TeTy
X o Figgaa qery
v ¢ HIIEET T

Question ID : 7193991328
Status : Answered
Chosen Option : 4

055 faez umr (DC) waftmr #, 6- Siier A9 Selr &1 waier e S 1 woiaT wut S FEaw w2 @

Ans X1 2
VEN
X3 8
X4 4




Question ID : 7193991397
Status : Answered
Chosen Option : 2

L el fwedt & & Towaeh sy & @ seo

e X M
X2 faferea
X 3 giesam
v 4 it

gl

Question ID : 7193991412
Status : Not Answered
Chosen Option : --

055 In a push-pull amplifier, both the transistors are operated in a Class

Ans «1' B

operation.

X2cC
X3 AB
X4 A
Question ID : 7193991427
Status : Answered
Chosen Option : 3
LS sordfie oi% (Besy) # vgFa R AR @ @ wfaE 2 2

Ans o 1 B0%, 40%
X 2 80%, 20%
X 3. 65%, 35%
X 4 50%, 50%

Question ID : 7193991311
Status : Answered
Chosen Option: 3

% Rce urr Ao Aex Fw FfEEeE A 2
A o ET geR W

X2 HHET T F G g W

X 89 F el g W

Xesm AT W

Question ID : 7193991445
Status : Answered




l Chosen Option : 2

066 TE 3-Fer (%), 230 V, 50 Hz SRoft Fiex & 2% WOoT &1 gUTR O #r Hged gt

Ans X 1. B2 Hz
v 21Hz
< 3 50 Hz
K 4 2 Hz

Question ID : 7193991406
Status : Answered
Chosen Option: 1

U afeg GTO #r et @R ar _ #r&f & g &
ne XKL A ofEaR

22 fe efEaer

X 3 AR UETET

S ir="r:ry

Question ID : 7193991422
Status : Not Answered
Chosen Option : --

Qé" T gITerEel Ta9% &, ScHae ITATT ST & 9aeT #4t fFar ar 87

Ans «1
Yafs FedTad! O b #1 feiet STATel 99 Yaid & &d

X 2 dzdiss (Jfsy) & @ffT =@ &g
X 5. gfcEmar Fere &g
X 4 3mgfea faamor &g

Question ID : 7193991425
Status : Answered
Chosen Option : 4

Q:f The self-induced EMF in the coil undergoing commutation is known as:

Ans % 1. dynamically induced EMF

X 2 back EMF
/< 3. EMF per parallel path

+ 4. reactance voltage

Question ID : 7193991435
Status : Not Answered




l Chosen Option : --

Y o v b I Ao N XE @ HERT & wer A r
e K et e e g o #

X2 s Pb # ofefda & ser 8

v 3

H,S0, & 3+ Teca (specific gravity) =TT 1.28 T &€ AT ¢

X 4+ Feiz Poo, & 9ftafda & smar §

Question ID : 7193991323
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Chosen Option: 3

Qéf’ A T, 3THI0T, Ve 3R SATER T T T FRaT AR Yo Hr S &

Ans

X 1. T RS
v 2 28 Faud
X3 greRy AT
X o fEg=

Question ID : 7193991364
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Chosen Option : 4

A6 Frafafed # @ Fi7 @ BfY ax & Ridega FHET 97 Fw A R E2
A X ey wEERToT

X 2. YTahea FHHIOT
V'3 eTiyaT FEERTOT
X 4 FIET P FHATRIOT

Question ID : 7193991372
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Chosen Option : --

% oftonfaT / TEwER & o SRor Feferat @
X fege w9 @ dag AR 99T w9 @ dee

X2 Tega & @ Rewg AR Foha & ¥ e

v o fagga ¥ ¥ Rwea AR 9967 ¥ @ weL

X4 FEhrm w9 ¥ fwed diN e & ¥ de e




Question ID : 7193991377
Status : Answered
Chosen Option : 1

U010 ¥ 1Mo F s F A F e B # @ e @ B s 2
e X0 R R

X 2 Feaw gf ag fafa

v e ¥y R

X 4 Freedrex-vde B

Question ID : 7193991335
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Chosen Option: 1

& g & ot AT . B
Ane X 1. 8.854 x 107*2H/M

X 28854 x 107'°H/M

v 3 4nx 107’H/m

X 4 4mx 107°H/m

Question ID : 7193991330
Status : Answered
Chosen Option : 1

Q.7 10 kVA, 1100/400 V woher et IRonfaT # gfdas it & 100 &F &1 srufas g # &4 #r

0 ger Far i
Ans 1. 2750
v 2 275
< 3. 550
#< 4. 5500
Question ID : 7193991380
Status : Answered
Chosen Option : 4
01-7 a1y e o AEY o) AT sieEie STt B 3fE Jomer Sere i S ¥

Ant X 1. oE-el, DE-aR ToE fATeH
v 2 AF-ha, AR
X 3 d9-%e, IR-aR
X 4 TH-Ihe, dA-aR




Question ID : 7193991370
Status : Answered
Chosen Option : 3

Q7 337, vEaTew 3R wEET ToTE T IR ¥ famas 991y F IS ¢

Question ID : 7193991369
Status : Answered
Chosen Option : 4

YT AR pT R W W T ¥
X0 e Y

X2 B iy

X ¢ ofgdt ofa

v ooz afy

Question ID : 7193991352
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Chosen Option : 2

Y geuwtees @ex & & smeawan g )
M dE e gearedt arr ik Rve awr s
X2 T AT
X 3 FHaer A BT geIrEdt uRT 3y
XK o Fae fose amr amgf

Question ID : 7193991404
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Chosen Option: 3

YV FomT fr coeEE Sl geE | H e @ A B
VAR Gl

X2 géErE

X 3 i

X afewma




Question ID : 7193991308
Status : Answered
Chosen Option : 1

% B & @ P9 OIS S9AE OTE TG F TH ST 87
Ans X1 S

X2 B

v e

X“'HiﬁT

Question ID : 7193991312
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Chosen Option : 1

Vs au AT s efeargs . asxaa d
Ans x.lmﬂ_

v FET Fa (@8 g e

X 5 dreer

X4 e Wi

Question ID : 7193991431
Status : Answered
Chosen Option : 1

Q.7 2 s gferioss spwen # 2 gU § 3R A Fo gk 800 0 ¥ IR ¥ WA A 3 & & g
gfeRrer & gem?

Ans of 1. 200 Q
<2100 Q
X 3500
X 4 400 Q

Question ID : 7193991319
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Chosen Option : 4

Q<_':,7 fafaf@a et # & #i9 F3a J sFAW g ae e (F392) F1 TF THR FAdT 87

K ag Sy afweh
X2 3| FHi¥T e aiwed
v o @5 aimel
X o gel Hae qRRed

Question ID : 7193991356
Status : Not Answered




l Chosen Option : --

% 50 Hz, 8 9rer geaehiiors AT $rarfa gl
Ans 1. 3000 rpm

' 2. 750 rpm

/< 3 1500 rpm

X 2 4000 rpm

Question ID : 7193991401
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U8 oo faega wwaoT fave unT AU A FEEH _ F FROT A e g
e X0 FwE R # @ua

X 2 &H FEg

X3 3= ifa & a1

v ¢ 3T Fad AT

Question ID : 7193991433
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Qé8 swhar # fagga-umn afonfas (gewweR) &1 3T F WH Ta & e fFmar s #

A X 1. dreasrer
X 2 FreHreT
v e
X a aﬁ?—rwm

Question ID : 7193991386
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Qé8 o ofonfE o # a9 T F A e @t w1 oam e F R R for #5739 S o i
Ans v W =

X2 e Rer

p g mﬁﬂaﬁ'ﬂ' e

X 4 fareas graT Re

Question ID : 7193991360
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l Chosen Option : 1

U8 Rve uwr (DC) welwr &, Siemeh Fso & wow # ey & @ &l 78 2
Y <Y

X2 Y5=Yp+1

X3Yy=Yg

X4 Yg>Yp

Question ID : 7193991400
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% e R EER gfeyEw gifswe (IGBT) # 2
M 1 e s wieETen
X 2 @ sa9e wiaamen

-

X o = gege wfommr Ak 5= amseqe wfemen

-

X 4 =g gfcarer

Question ID : 7193991419
Status : Answered
Chosen Option : 1

Qés The power in a three—phase-star connected pure resistive circuit is given by:
Ans X143 Veulpn

X2 Vil /\3

X3 VI

v 4BV

Question ID : 7193991374
Status : Not Answered
Chosen Option : --

Q.8 The speed/load characteristics of a universal motor vary in the same way as that of a motor.
7

Ans 1. separately excited
v 2 DC series
< 3. DC shunt
7< 4. compound

Question ID : 7193991354
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Y geuwfew d@eT o ¥

M TR, 3T W e iR U # ¥ Rl W oeh
X 2 T Fad 39 AfFT U (pf) W
X 5. HeF Had TR AFT AU (pf) T
X 4. I Teheh ATFA I[OTH W

Question ID : 7193991402
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U o AR F @SS dEm & dEwm F e @ b
e o R ge

X 2 Orer

X o3ogr

X 4 81T FIoIT

Question ID : 7193991345
Status : Not Answered
Chosen Option : --

Q.9 st T b ; B o
o For street lighting, which lamp is suitable?
Ans X 1. Halogen lamp

v 2 1ED
/< 3. Neon lamp

< 4 Incandescent lamp

Question ID : 7193991394
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Chosen Option : 3
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@9 The crystal diode is also known as:

Ans X 1. varactor diode
/< 2. photo diode

' 3. PN junction diode
& 4 tunnel diode
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99 Heating devices are based on the
Ans 3 1. magnetic

< 2. Hall
/< 3. chemical
« 4 heating

effect of electric current.

[ Question ID : 7193991342




Status : Answered
Chosen Option: 1

069 qRETOT A THT WA ¥ TG Tow F R F g@esA F B HTTTF E
M e T

X 3. qUFHRT
X 4 ofygyr Ta=ss 9H = E

Question ID : 7193991361
Status : Answered
Chosen Option : 1

Q;’ Laminated construction for the core of a machine is used for reducing

Ans  of 1. eddy current loss
/< 2. hysteresis loss
< 3. friction loss
/< 4. copper loss
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Qég Which of the below is NOT an application of a universal motor?
Ans o 1. Water pump
/< 2. Sewing machines

/< 3. Mixers
/< 4 Portable drills
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Ans X 1.6.375 W
X 26475 W
v 60.375 W
< 460475 W

Question ID : 7193991310
Status : Answered
Chosen Option : 3

Q1 A ik T el A, S sfower @ ) A s st (he B dEd
A o Rwe g TilRe

X 2 gF ger TfeT
p
¥ F3 & v 7 3 =T S & O Rvw @ TR

X a
¥ F3 & v Rww 3R T S5 5 BT W @ TR




Question ID : 7193991399
Status : Answered
Chosen Option : 4

% T RROT Seeedf (CRO) #Tgad @ ¥
At XK Feanr gadw

X 2 gifas g

v 3 e fgor Ao (CRT)

X4 giferT

Question ID : 7193991390
Status : Not Answered
Chosen Option : --

% AT ERE | % RO Ot g g &

Ans = * N
v e ZAlpd SgcshA HHASR dlecdl

X 2 ST geww amr
< 3 Ffea 39 9o dieear

X4 gfeg 3T g
Question ID : 7193991414
Status : Answered
Chosen Option: 1

Q.1
06 JETPIOH AT T FURT & forw fFar sman 2
Ans x 1. - §

X 2 3eumed ()

X 3. I (TeE)
v . dreear Fawa Ak afF T qure gur

Question ID : 7193991405
Status : Answered
Chosen Option : 2

V! o o F B Bw yEes v MR oRr A o FaT e Bl
Ans «1@?

PaS AR r=-r:ry

X3 A

X 4 Free




Question ID : 7193991307
Status : Answered
Chosen Option: 1

v s WA F T A e Sar B
e K ErggTeEReT

X 2 AT

X s gATHAR

o ERTOT

Question ID : 7193991340
Status : Answered
Chosen Option : 4

%-91 Which type of wiring system is most commonly used in residential buildings?

Ans o 1. Wooden casing capping
X 2 Cleat wiring
/< 3. Metal conduit wiring
/< 4. Lead sheathed wiring
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?’11 What is the main drawback of a DC shunt generator?
Ans 1. It is expensive

/< 2. Shunt field circuit has high resistance

/< 3. Generated voltage is small

« 4 Terminal voltage drops considerably with load

[
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X< 1.360 V
v'2 250 V
X3 60V

X 41500 V
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271 The purpose of impregnation of insulating materials such as cotton tape, paper, etc. is to:
Ans X 1. cover the surface of the material

/< 2. protect the material from heating

o 3. fill the air pockets with oil

/< 4. fill the air pockets with air
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X 4350 °C
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49

Ans % 1. latching current

#< 2. reverse current
+ 3. holding current

/X 4 forward current

Q.1 The minimum anode current below which it must fall for turning off the thyristor is known as the:

Question ID : 7193991415
Status : Not Answered
Chosen Option : --

X2 AT 9 FT AT §
V'3 FeT ofg Sear g
X4 Ay afy FF = g

% fase amr HeT & 9fY 9 F7 gar wiEEe |
Ane X1 Frer ofy & Bl o ofEdT &7 FRoT A8 ¥

Question ID : 7193991438
Status : Answered
Chosen Option : 4







